Use common factors to simplify fractions.

Use multiples to express fractions in the

Convert mixed numbers to improper

1) Find a number that

both the numerator and

the denommator can be

divided by (in this case,

3) -

2) Divide both the /‘_3\
numerator and 9 3
denominator by that 5 s
number. A\ 4

+3

same denominator El]

indan er that is
a common ‘S‘EC 2X2 1X3
otl d:”am nators (in
3X 2 2 X 3
this case, C,’
2) Multiply both fractions
by the relevant multiple
;o reac'h the new 4 3
enominator p 7

fractions

Convert improper fractions to mixed
numbers

1) See how many times the
denominator will go into the
numerator (once, with a
remainder of 3)

2 \Alvitn + cmcvnrnr (1) Ac +ho
2) Write the answer th

3) Wr:te the remamder (3) as
the numerator over the existing
denominator.

3
1 whole -

Compare fractions

1) Decide on a common
multiple of the two
denominators to become
the new denominator

2) Convert both fractions
to have the same
denominator.

=1
5ﬂ

6 6

Prime numbers

A prime number is a whole number

Add mixed numbers (method 1) 1_ + 1_
1) Change any mixed numbers 4

to improper fractions. 7 11
2) Convert both fractions to 4 + 8
have the same denominator 14 1
3) Add the numerators ) + Y
together.
14 11 25
— —=—
8 8 8
1
5) Simplify the answer if you = 35

can.

Add mixed numbers (method 2) 1 + 1
1) Add the two whole
numbers together.
2) Convert both fractions to
. 6 3
have the same denominator. -4+ =
3) Add the numerators 8 8
together.

1+1=2

5) Add together your two
answers.

Subtract mixed numbers 25 _ 11
1) Change any mixed 4 8
numbers to improper mnoe
fractions. 8
2) Convert both fractions to 22 9
have the same denominator. g g
3) Subtract the second 22 9 13
numerator from the first. g g g

13_ 45
. 8 8
5) Simplify the answer if you

can.

Multiply pairs of proper fractions 3 _, 2

4 3
1) Multiply the
numerators 3 2 6
2) Multiply the -X-=—
denominators 43 12
3) Simplify the
answer if you o1

12 2

can.

3

4
2 CE
z T 12
3 E

the new
denominator.

2) Simplify the
answer if you can.

dd . .o
1)Multiply the ’ reater than 1 with no divisors except 1
P g p
denominator by the whole 1— .
number. w4 il2l 314l 5| a7 8 ali0 and ltself.
2) Add the numerator multiply il izl 3l 5 ezl el @] 20 2 is the onlg even prime number.
3) Write the answer as a . .
numerator over the 21| 22| 23| 24| 25| 26| 27| 28] 29| 30|  There are no prime numbers that end in
existing denominator . E 31|32 33| 34| 35| 36| 37| 38| 39| 40| 5 except for 5.
1___ 1 whole Z BT 420 43| 44| 45| 46| 47| 48| 49| 50 The dlglts Can’t add up to 3’ except 3.
Add proper fractions 51 52| 53| 54| 55| 56| 57| 58| 59| a0
r rjr on
. both § Gl [ 62| 63| 6| a5 66| &7 &68| &9 70
onvert bot ractions
to have the same I]] 1EH A\ 2175|775 76) 77| 78] 7] 80 A square number is the product of
denominator - + - 1 ly . . .
2) Add the numerators, 3 6 87|82 85] 84| &3] 80| 57| 88 &H] 40 multiplying a number by itself
but not the Q| 92| 93| 94| 95| 96| 97| 98| 99| 100
denominators. EEI 1BEE| (99 3 X 3)
3) Simplify th i 24z . . 2 —
Lo com Ty the answer - S+ Fraction | Decimal | Percentage 12=1 72 = 49
22=4 2
2,13 _1 1 8= 64
H:‘ 6+6 P E—E — 0125 125% 32= 9 92_ 8‘,
Subtract proper fractions .] EH LI 1 0.25 259 42 =16 102 = 100
1) Convert 2 4 2 —
both fractions 376 3 0.375 37.5% > 25 112 =121
to have the = : D70 62 36 2
same .:‘ i;El 8 12 144
denominator 1 2 or 1 0.5 50%
2) Subtract the 6 6 2 .
numerators, - A cube number is the product of
b h 413 2 ) .59 e .
buenotthe g 373 5 0.625 62.5% multiplying a number by itself, then
3) Simplify the i ;
el 31 6.3 0.75 759, by itself again (e.g. 2 x 2 x 2)
can 6 8 4 13 =1
= 3 _
Divide fractions by whole numbers 2 3 g 0.875 87.5% 23 =8 ;3 _55;23
2 3 =
2 3 3=
- 2. 8 or 1 1 100% 3%=27 93 =729
3 ; s O 43 = 64
2 - 3—
1) Multiply the 3 whole 53 = 125 10°= 1000
denominator by the - 113= 1331
whole number and 3 =
write the answer as @Sa rahFa rre”KSZ 6 216 123 =1 728

Multiply fractions by whole numbers
3

EEEEE S

1) Write the whole number 3 X 5
as a fraction over 1. 4 1
2) Multiply the numerators 3 5 15
3) Multiply the 2X157
denominators
15 3
= -3
4 4

5) Simplify the answer if

you can
EEEP

Multiply mixed numbers by whole 3

numbers (method 1)
1) Change any mixed

numbers to improper

fractions

2)Write the whole number 15

as a fraction over 1. 4
5
1

3) Multiply the numerators 15
4) Multiply the M
denominators

6) Simplify the answer if
you can.

Multiply mixed numbers by whole3 x5
numbers (method 2)

1) Multiply the two whole 3 x 5 = 15

numbers together.

2) Multiply the fraction by 3 5 15

the whole number. 2 X157

15_43

' 4 4

4) Add your two answers

together.

5) Simplify the answer if

you can.

15+3>=18>
4 4

o =

10mm =

.~ 4

x 10

Convert metric units

length capacity mass
+ 1000
+ 100 + 1000 + 1000
Tem  100cm = 1m 1000m = Tkm 1000m| = 1| 1000g = 1kg
x 100 x 1000 u
x 1000 x 1000




The circumference is the distance around the Acute angles
outside of the circle. measure less
The diameter is a straight line running from 5
one point of the circle to another, going pqrallel perpendicular than 90
straight through middle. It is twice the radius. lines lines
The radius is a straight line running from the Obtuse angles
edge of a circle the middle. It is half the . measure greater
diameter. - than 90°and less
than 180°
Quadrilaterals
. Rhombus Faces are Edges are  vertices are the Reflex anales
T—H—  Rectangle (4 'f'ght (parallelogram the the line places where 3 meaJ;ure rgeater
T + angles, opposite with 4 equal surfaces of segments or more edges 9
(1, 1 sides equal) sides) the shape where meet than 180°and
two faces less than 360 °
] I [] Square (4 right angles Trapezium (two sides meet
1 | and 4 equal sides) are parallel)
[ 1 | [ L
Para”elogram (tW_O Kite (two pairs of 30
g pairs of parallel sides adjacent sides of
and opposite sides the same len
gth)
equal) i ; :
“
always add up to 90° ARANRAREIAngIe 9 Y
always add up to 180° add up to 360°
Triangles Polygons
Cube Cubwoid Sphere
Equilateral (3 T,
equal sides and || 3 sides Triangle & square faces ) & faces 4 | 1 urwed surfoce /<L
3 equal angles) . . 12 edges [ 12 edges 0 edges i 7
4 sides Quadrilateral g L:_f:m | g ;ﬁm | 1o g - el
5 sides Pentagon
Isosceles (2 Tetrahedron Trigngular prism Cylinder
equal sides 6 sides Hexagon P
ond 2 equal 9 4 trianqular faces 5 foces | 2 circular faces
angles) 7 sides Heptagon & edges Q edges 1 curved surface
_ 4 vertices & vertices . - 2 curved edies
8 sides Octagon i
Scalene (no 0 werilces
equal sides 9 sides | Nonagon
[ o e Cone Square-based pyramid Octahedron
equa i :
azg,es) 10 sides | Decagon 1 circular face A 5 faces 8 faces
!
T curved surface FARN & edges | 12 edges
Tourved edge /% | 5 vertices | & vertices V
Y |
@SarahFarrellKS2 T apex T '




